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Composition of Function Notes

J(g(x)=(f°g)(x)
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Find the rule given the functions:  yfixh=x" -7 g(x)=3x+2 h(x)=vx+1
v W_ _ ¢ OX= ‘
L (=75 24 ¥ & 3. (f+9)00) =vaka@+ G0C)

L A A e U e B s N Y @ R S it e S Sl e e - o

=31 =g+l (*=TH (3x+2)

= - - % KT=1+DX+2 ,I
-[z] X2 +2x-5 |
4. (@ =£0) 1 g(x) 5. (7-2)00) -ehe) — § 6 Urom= £G) / 40 ;
U= 2x+2) (X1 =3+ N :
B ] R e S e 2X1L
' Xl — 3% W _
@ L v AL
7.8(£(12) 8. /(2(7) 9. 7(gl)

\v =
By B S (D SRV E

- . (2%)=23"-1 = (3x+2) =]
(157 =3(3N+2=H45  *
: =522 = QX 4T

115 1522 =[Ax*+ 1% 3]

10. (f +2)(2) 11. g(f(kﬂ—‘)(i'-_l 12. (foh)(x) = F(\(\(X}) :

e o gueM= 3T () R |
£ PO = BBV TR |
gl e AR =19 = X4] T

32l . (£ g
3. Find the domain restrictions for #6. . —
CHe denom # o) 9

=53

- ~ F)=4*1 =16-T=9
3x+2=0 | x# -3 G =3N+2 =242 =14 |
e et =

X-bl ;
= el — (1) |

TN et s S S L



